Untitled.notebook November 06, 2015




Untitled.notebook November 06, 2015

Solving Right Triangles

To solve a right triangle means to determine the measure
of all six parts (3 lengths, and 3 angles by using basic
trigonometric functions and/or Pythagorean Theorem)

((

c

a

EXAMPLE - Solve the triangle (find ALL sides and angles)
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m Solving a Right Triangle Given Two Sides

Solve AXYZ.
Give the measures to the nearest tenth.

nd .)

SOLUTION 7
A0 @ @@

(erase to reveal)
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2.6 Applying the Trigonometric Ratios
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YOUR TURN...
Solve ADOG, given that angle D = 9(° , an < 24°andd = 12.
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Review:
SOH CAH TOA stands fo&

These trig ratios will only work with ﬁ‘ L)h triangles.

/J
In each ratio we have ‘ angle(s) and 2 side(s).

Angle of elevation- is the angle Angle of Depressien is the angle between

between the ground ____/ the horizon and the line
and the line of of sight.
sight.

(angle of inclination) 1

1 _ %

Always outside the tiangle

Always from the GROLUMND up

Also, note that thgangle of elevation = angle of depressio /X’
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EXAMPLE #1:
6. Two trees are 80 m apart. From a point

between the trees, the angles of elevation of the (%6)
tops of the trees are measured. What is the

S
height of each tree to the nearest metre? "[0»‘-0\ N 8’0 = z

w0

2.7 Solving Problems Invelving More than One Right Triangle
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EXAMPLE 2: @ Using Sine or Cosine to Solve a Problem @

A water bomber is flying at an altitude of 5000 ft. The
(if)is 8000 ft. from the target

site. What is the'angle of elevation>of the plane

measured from the target site, to the nearest degree?

0\
S

SOLUTION The angle?of elevation of the plane is approximately 39°.

(erase to reveal)
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2.4 The Sine and Cosine Ratios

7
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Q Worksheet - Solving and Applications.pdf



= # — — — et
144 . _GRIGHT TRIANGLE.
1. Find all unknown angles and sides.
o - > 6.0 cm 3
D~— E
§.0 mm : 3
12.0 cm .
B (64 ; 3 3
- 5.0 mm : ; ’ Lovd
. ' F : 3
4) 7 € o 20m f)
I F
27.0m . {7
5 390m ; 13.0 km 16.‘0 km ‘
K E .
170m ¥ G : b
2. Solve each triangle.
a) b) . c) %
B & o
ey o
o ' ' ~ L ' 754 2
<O O S = Uk T
K & 320m L 180m ' S M
; ; . RS =
d)- e) £ > % B vEYEe g
' v R 20m_~/ L=y B2
2 emdeEs
31.0cm :"?m‘qn:q' 23
: 7 25.0 ¢m Q E‘”f’f?ﬁﬁgfr:
: 25° ; ' nBrlooiy
N E G O 23 g ii;?, ’f =
: M v ORIk i
3 . o sl =
3. Solve AABC, in which £B = 90°, with the data given. S o “—; S8
a) LA4=27°,4C=10 ‘b) 24 =35,48=15 c) LC=50°,4C=20 E Ei"r\\JiU \{g.ﬂg
d) LC=62°,BC=100 " e) AB =40, BC =27 f) AC=48,4B =35 nw;mjﬁ;,&j;d
®)- g = e i R
gl 3 . ; s rY gt BESQ
4. From.a distance of 80.0 m, the angle of elevation of the top of a flagpole is 18°. CPAS) a‘a ‘\i ) :» 3
Determine the height of the flagpole, to the nearest tenth of a metre. - G DR e
5. A radio tower is 350 m high, If the sun’s rays make an anglé of 39° with the ground, R
. determine the length of the tower’s shadow. E o
6. Sharon is flying a kite on a string 130 m long. Determine the height of the kite if 5 Ng} n
the string is at an angle of 34°to the ground. What assumptions are you making? ~llj 2 . o
Rl gy,in
7. The diagonal of a rectangle is 12 cm long and makes an angle of 32° with the longer 5 8: \4”23, a9 f\‘:‘
.. . side, Find the length of the rectangle. ? =3 E; S,
s : ;i . - TR B el
$. The diagonal of a rectangle is 15 cm long and makes a 20° angle with the longer o B :]:,1@ L', o ey
side. Find the width of the rectangle. ' SRS TE g
. ' : . ban B8 gl
9. Anairplane is flying at an altitude of 6000 m over the ocean directly towards an s =g ‘O'j 9‘) D ff! g i
island. When the angle of depression of the coastline from the airplane is 14°, how ;1 ELRE I Q: < S o ‘i =2 °,'
uch farther does the airplanc have to fly before it crosses the coast? Sl Eg i gy 5 s
e e ; 2 : WcEEEIEURR:
#10:-Find the measure of the acute angle formed by the intersection of the diagonals of & \“, f RS b igﬁ, p g
* rectangle which measures § cm by 6 om. s <[mog g =T g
‘ — — I BT RR I8N
5 e d ¥ Ol Btiypg B 0 SI 0d
11, The inclination of a warchouse conveyor can be set between’ 14° and V| SRERRAET
40°. If the length of the conveyor is 12 m, what are the minimum PRl R TR E

and maximuim heights the conveyor can reach?
1

12. Determine the perimeter of a regular pentagon which is inscribed -
in a circle of 10 cm radius.
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